Key:

v when pink indicates jop ynp

v indicates that the accent on the word is pushed back (7R x101) because of the next word

M indicates that the accent on the word is not pushed back even though the next word has the accent on the first syllable.

* (the bullet symbol) indicates any of the following:

1. Two consecutive words that end and begin, respectively, with the same or very similar sound.

2. Two syllables within a word that need to be carefully differentiated — so that one syllable does not get swallowed — e.g.
1°nare? (should not be read as la-vo-tai-nu but as la-a-vo-tai-nu).

3. Two consecutive consonants within one word where the first is vocalized with a shewa nach and one of them is voiced and
the other is unvoiced, so one must take great care not to read both as voiced (or unvoiced) — e.g. 12<1n.

Square brackets [ ] are used to highlight words of phrases that can be easily misplaced in phrasing.
A 1 xw is bold — which displays as bold and off-center underneath the letter to the left.

A w7 which is in pink is a reminder that it is a dagesh chazak (only a few are marked in this way — most occurrences of a
dagesh chazak are in the regular black color.)

If you find something that | missed please send me a comment using the Contact button at the bottom of the webpage.
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18:3 *17x has a ynp under the 1 (since it is wp).
18:8 7mw-x1m — X1 has no trop and instead is attached to 72y with a apn.

18:13 nip1 has a nno under the » (non-pausal with a P05 710)



18:17 noonn is read with a v1 Xw under the », not a nind A,
18:21 177X is read with a ¥1 Xw under the 9, not a nno aovn.
19:2 »17% has a nino under the 1 (since it is 7).

19:4 y2ow» has a ynp under the 5 with a 910.

19:9 17K has a Xuws, not a RnTp.

19:14 2nR" has a Xows, not a XnaTp.

19:37 X177 has a X271, not a 7°an, and axm->ax are attached with a apn.
20:11 >nanx has a *¥°27 not a Jop 9ir.

21:6 pnx has a v1 Xw under the ¥, not a nno qwvn

21:15 nnn should be read with a 210+°7°%, not two 51a0's.

21:33 Hwx should be read with two 9130's, not a ?130+>71°x

22:08 o°179x has a o°w13, not a 2173 97,

22:18 15720 has a va xw under the 9, not a ninod avr.
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